
 (GeV)
T
b - p

T
ap

0 0.5 1 1.5 2

)
Tb

,p
Ta

(p 2r

0.6

0.7

0.8

0.9

1

 < 1.5 GeV
T

a1.0 < p

0-0.2% centrality

 = 2.76 TeVNNsCMS PbPb  

Data

 (GeV)
T
b - p

T
ap

0 0.5 1 1.5 2

)
Tb

,p
Ta

(p
2r

 < 2.0 GeV
T

a1.5 < p

VISH2+1 Hydro

MC-Glauber
/s = 0.20η
/s = 0.12η
/s = 0.08η

MC-KLN
/s = 0.20η
/s = 0.12η
/s = 0.08η

 (GeV)
T
b - p

T
ap

0 0.5 1 1.5 2

)
Tb

,p
Ta

(p
2r

 < 2.5 GeV
T

a2.0 < p

 (GeV)
T
b - p

T
ap

0 0.5 1 1.5 2 2.5

)
Tb

,p
Ta

(p
2r

 < 3.0 GeV
T

a2.5 < p


	Contents
	Page 1




